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( )
‘ [ ] MFV-630
2
( ) 78.80 I/h I/h kg/h q"(Nm3/h) = (I/h) x X (%) x 0.007
0.8 q" ( ) = 78.8]1I/h x [ 0.86] x [ 1.000 ] x 0.007
0.86 0.8 0.86 [ 0.4741]
1.000 0.1%A 1.0%
13.453] Nm3/Kg q"( ) =T 0.47141 x[ 0.8] ( )
11.999| Nm3/Kg [ 0.380]
( ) 0.474| Nm3/h
( ) 911.7| Nm3/h ( ) Q" (Nm3/h)
200.0 ° - -
« ) 19.00 Q"C ) (€ Y=1T 13.45] Nm3/Kg x [ 67.8 1 Ka/h x [ 911.7 ] Nm3/h
( ) 0: 1:
( ) 0.400 Q" ( ) ( )= 911.7] x[ 0.8] [ 729.4 1 Nm3/h
0.126 2 (D/2)"2*1
( ) 3.48 m/s 2.786 m/s Q" ( ) ( )=[ 12.007] Nm3/Kg x [ 67.8 1 Ka/h x [ 813.27] Nm3/h
19.00
17.50 Q" ( ) ( )=[ 813.2] x[ 0.8] [ 650.6 ] Nm3/h
q = K*10"-3*He™2 = [ 17.50 Ix10"-3x[ 19.00 12 = [ 6.318 7 Nm3/h
a=1 6.318 7 N\m3/h  >= q'= [ 0.474 7 Nm3/h
1. 15 Q = (Q"/3600) x (288/273)
=([ 911.7] x 288 ) = 982,800 [ 0.267 ] m3/s
( ) 0.15| g/Nm3 - - 2. T=273+t=273 +[ 200] = [ 47371 K
4.00 - -
0.30, g/Nm3 10.3( 3. V = (Q"/A) x (T/273) x (1/3600)
4.00 4.0( ) =([ 911.7]1 /[ 0.126 ] x ([ 4737 / 273 ) x (1/3600)
21 - On =[ 3.482] m/s [ 2.786 ] m/s
C"= 21 - 0s xCs = 0.150]
4.- 7. (He = Ho )
C=1 0.30 ] g/Nm3 >= C"=[ 0.1507] g/Nm3 4. J=(@/7V QxV) x(1460-296 x V / (T-288))+ 1
=/ VT 1x1[ PDx(1460-296x[ 17 ( 1 - 288))+1
[ 1
( ) 98 - - 5. Ht = 2.01 x 103 x Q x (T-288)x (2.30 x logJ + (1/J) - 1)
4.0 - -
180 180( ) =2.01x10"-3 x [ Ix 1- 288) x(2.30 x log[ 1+@/T D -1
4.0 4.0( ) =L 1m
21 - On
C"= 21 -0s xCs =] 98 1] 6. Hm = (0.795 x v QV) /7 (1 + (2.58 / V))
c=1T1 180] ppm > c=1 B]lppm = (0.795 xV ([ 1xL D) /7 @+ (2.58/] D) I 1m
7. He = Ho + 0.65 (Ht + Hm)
- - =[  19.07] + 0.65 x([ 1 + [ 1)=[ 19.00] m
( ) mg/Nm3
mg/Nm3
( mg/Nm3 q°( ) Nm3/h x 1076
Cppm) = Q"( ) Nm3/h
C=1 1 mg/Nm3 >= C'=[ 1 mg/Nm3 =[ 0.47471 x 106 / [ 813.21 =[ 582.9 1 ppm
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